Examen 4 (solutions)
201-NYC Algebre linéaire
Professeur : Dimitri Zuchowski

Question 1. (10%)

a) Im(z3) =3 ¢) |zl =v5 e) 3=—-2—3i
b) Re(s1) — -5 d) Arg(z1) = arctan G) -z

Question 2. (5%)

a) 4—3i — seirretan(=) b) 7e'Ts — Tcos ({3) +isin ({5)

Question 3. (35%)

a) 14— 17i 7.3, V2 V2, £) —15
) ¢ C) 4+4Z e) —74-72 )
b) 32+ 42i d) 2+i g) 16i

Question 4. (10%)

cis(m%),kzo,l...j

Question 5. (10%)

1
s a (5T \? _ 1. (5T 1, (137 1. (217
V=3—-3i= <\/18ms < 1 >> = {186(:15 <12> , 185 cis <—12 > , 186 cis <—12 )}
Question 6. (10%)

iz2 —3iz—14+3i=i(z — (L +1))(z — (2 —1))

Question 7. (10%)

2% — 52" 4+ 1323 — 6522 + 362 — 180 = (2 — 2i)(z + 2i)(z + 3i)(z — 3i)(z — 5) donc z=5.

Question 8. (10%)

Azp = (a — bi)(c + di) = ac + adi — bei — bdi® = (ac + bd) 4 (ad — be)i = (21 0 z0) + (21 A 22)i



